1. Find words in the articles with these meanings.

a) (Article 1) someone who has stopped working because he has reached a certain age:

b) (Article 1) very surprised and shocked:

c) (Article 2) promised to do something bad to someone:

d) (Article 2) trying to become:

e) (Article 3) dressed so that nobody knows the real identity:

2. Circle the correct choice.

1. When was the packet of biscuits stolen?
a) recently
b) 15 years ago
c) more than 15 years ago
d) the previous day

2. Why did the thief decide to return the biscuits?
a) Because he hadn’t eaten them yet.

b) Because it took him 50 years to find the same
biscuits in a shop.

c) Because the café owner felt bad about it.
d) Because the thief felt bad about it.

3. What was the bank robbers’ mistake?
a) threatening the staff
b) phoning to say they were coming
c) arriving too early

d) phoning the police by mistake

4. How did the Argentinean criminals hide from police?

a) They robbed a bank.

b) They escaped from prison.
c) They dressed as sheep.

d) They ran around the hills.

. How do the police know the criminals are dressed as

sheep?

a) Someone who works at the farm has seen them in
sheep skins.

b) The farmer has lost two sheep.

c) Because the police would have found them if they
weren’t dressed as sheep.

d) Because a farmer has counted two sheep that don’t
belong to him



